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Abstract—This study examines the impact of process and product innovation on employment growth across four Latin American 

countries (Argentina, Chile, Costa Rica, and Uruguay) using micro data from innovation surveys. Specifically, we relate employment 

growth to process innovations and to the growth of sales separately due to innovative and unchanged products. Results show that that 

compensation effects are prevalent, and the introduction of new products is associated with employment growth at the firm level. 

Specifically, we find that for the manufacturing firms as a whole, the introduction of process innovations only affects the employment 

growth in the countries case of Chile. At the same time, we observe no evidence of displacement effects due to the introduction of 

product innovations. In fact, the observed compensation effects resulting from the introduction of new products imply, in turn, 

employment growth even when the replacement of old products is taken into account. 

�

Index Terms— Innovation, Employment, Developing countries, Latin America, Innovation surveys. 
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���7���������.5�� �.8++��This work takes is part of the research project entitled “Employment Generation, Firm Size and Innovation 

in Latin America: the Microeconometric Evidence” coordinated by the Science and Technology Division of the Inter-American Development Bank. ��

9��
����������:����������������������Science and Technology Division, Inter-American Development Bank, 1300 New York Av. NW, Washington, D.C. 

20577. E-mail: gcrespi@iadb.org and ezequielt@iadb.org.�
1 This applies to both process and product innovation. Although process innovations might displace labor in the short term, in the extent that 

productivity gains are pass-through to prices and consumers react to price reductions, it might increase labor in the long term. The opposite applies to 

product innovations, in the extent that short term demand shifts might be compensated by imitators later on.  
.�There are so far only two recent papers on innovation and employment in LAC. One is Benavente and Lauterbach [6] on Chile, while the other one 

is Fanzylber and Fernandes [7], that covers only Brazil. However, while the first paper only deals with employment quantity issues in a cross-section 

setting, the second one uses trade proxies as controls for technology and as such does not properly control for innovation.  
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1�This will be the case if relative prices do not change very much over time or across new and old products 
4 The nominal growth in sales of old products, g1 is the result of three different effects:  the autonomous increase in firm demand for the old 

products, the compensation effect induced by any price variation following a process innovation and demand substitution effect resulting from the 

introduction of new products. As these components cannot be disentangled without additional data, in practice g1 will be simply subtracted from l, so 

an alternative specification for (4) is to use the inverse labor productivity growth as dependent variable.  
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������'����������������������
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������������������������B�������������������������������������������
��������������������������
��������%��(���������������
���� ������ ����� ��� �&������� 2) � ����� �������� ��� ���� �'���� ������� ��� ��
�������� ����������� ��� ��
�������� ���������� ���� ��%��� ���
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����������������
��������%��(�������������'�����������������D�������������E�����������������������
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������������������������%�����������������������������������
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����%�����������
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������������������������������������������&�������(2)�������������������������������������������������
�
����������� ��� ������������ ����������� ����� ������ 
��������� ���� ������������� ����� ���� ������ ������ ��� ����� ���������� � ����
������
���
�������������������������������������������������������������������������

�
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:7�

���� ������ ��� ���� ���� ����� ����������� ���� ��������� �������� ��� ���� �������������� ���������� ����
������ ���
���� ����� ����=�
#��������� (+<<5!.88+) � 
����� (+<<3 � +<<5 � .88+ � .883� ���� .88H) � 
����� ����� (.88?I.88H)� ���� 	������� (+<<5!.888 � .88+!
.881 �.882!.88?�����.88H!.88<)��������+����������������������������
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������������������������

7����������� ����������������#��������������������������7�������������������
������7��
���(+<<5!.88+)��������������.881����
��������������������������7��������������
��������(���:
)��������������������������
������������������������������������+<<5�����
.88+�������������������������
���������������������������
������������#�����������������7��
���G�������������������������+8����
����� ����������� ���� ��������� ����� ���� H?� �������J� &�������������� ����� ������������ ��� . ..<� ������ ���� + ?55� ��������� ����
&�������������� ���� ��������� ������ ��������� .1� ����������� G..� ��� ����� ����������� ��� ����������� ����������� ���������� ����� ����
�����������7�
!��
1���������������������������������������������������������G�������
�����%��������������6��������������������������
���������
�������������#������:��������������
����������� �����������������������
������������
���������
����������������������
����
����������������������-��� ����������������
����������
���������������������������������+<<3 �+<<5 �.88+ �.883�����.88H�������
�������������������������������������!���������������������������������������#������7��
������6������������(:��#)����������%�
�������������������������������������������
������
������� �������� �����
���������
��������
������������������������������������
�������������������������� ������������������� ������ ��'����� �������
���������	������������ ����������������
��������������������
�������� ���� ��������������������� ��� ������ ��������
�� ������� � �������� ���
��������������� �������������������� ��� ���� ������ ��� ����

����� ������ ����
������ 7��
��� ���� ���� ������ .88?I.88H�� ����� ���
��� ��� ������ ��� �� �������������� ������������
�� ������� ��� ����
������������� ����������������������������������������#�����������������������������������������������������������7��������������

������(��:
) ������������������������������������. .53���������������������������.88?!.88H����
���������:
����
��������������
���3??��������������������
����������������	���������������� ������������������������������������������1H?��������#�����������������
������ ����� ������� ���� ������������������ � ���� ����� ���� �������������� ������ ����� ����� ����� +8� ��������� � ��� ������ ����� ��
����������.++���������������
��������������������
��A:���������6�����������7����������������������(6�
��)����������������
���� ����
������ ���
�������� ���������������������������� ����� ����
�����������7������7��������7������(

77)����� ����
�������
$��%����
����������������������������������������%�������������������������
������������������������������(.������!���������������
7�
) ���������
��������������������	�������������������������������
������6�����������������������
������7��
����(�7)��
��������
�������������=�+<<5!.888 �.88+!.881 �.882!.88?�����.88H!.88< ���������������������:��������#���
����7��
����(:#7)���������
�������+<<5!.88H�������7�����������������������������������$���������7����������(��:)����������������������:#7�(����������������
��������������������%)��0��������7��������������������������2<����%��������������������������������	����������.8����2<�����������
��������������������+<����%����������������������������������������������������������������������������������7�
�.!��������
���
������.883��7��������� ����������������������������������������������������������38����%���������������������������������������
�7�
� 2!������ ��
���� ���� ����� ������� ��� ������ ���� �7� ����� ���� :#7� ��� ���� ����� ��� �������� ������ ���� ����������� ����� ��� ����
���������������������������������������������������������������
�����������7+8���

B�������������������������������������� �������������������������������������� ��������� ��������������
�������������"�����
#������������������������������������������������
�����������:
�����������������
����������������%��������������������������
����������������������#�������� �
���� �����	����������������������������������������������0������ �������������������%������������
������������������������������������������������������ �����������������������������������������������������������������������*++,��
�����������������������������������������B����%�������� �����
�� ����������
���������������
������������������������������������
�������
����������������������
��������������������������%����������%��������������
�������*+.,��

A.� Descriptive statistics 

������+������������������������������������������������������������������������������������0��������
������� �����������������������
������ ��� ����� ���!������� ���������� ��� �������� ���� ����� �������� ����� �
��� ���� ����������� ������� ��� ���� ���� ����������� ����

�
5 This is the sort of timing for investment decisions underlying [13]. 
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:77�#���A���	
������>#���7 �9��B�@��0�:6A"�C6:���#���7#":7�
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*umber of observations +2+3� .2<3� .++� .?.<�

���!����
������(��������������������������
������)�(K)� 1?�.� 1.�1� .�<� 2<�1�

A����������������
������(����������������
�����)�(K)� 2�5� 1�<� 2�1� H�8�

������4�������������������
�����(����������������
�����)�

(K)� +8�3� <�H� +5�5� ++�?�

A�����������
������(K)� 25�3� 32�+� H2�8� 1.�.�

  � �� �� �� ��

Employment growth (%) (yearly rate) �� �� �� ��

�� All firms !2�8� !.�?� .�H� !+�+�

��

���!����
������(����������������������

����
������)� !?�+� !1�3� 2�+� !2�2�

�� A����������������
������(����������������
�����)� !.�5� .�<� ?�H� 2�.�

��

������4�������������������
�����(������������

����
�����)� !1�<� !3�?� .�3� +�2�

�� A�����������
������ !.�3� !+�<� .�2� +�<�

�� �� �� �� �� ��

Sales growth (%)1 (nominal growth) (yearly rate) �� �� �� ��

�� All firms +�<� 2�H� +<�1� 2�<�

��

���!����
������(����������������������

����
������)� !8�+� +�1� +H�+� 8�1�

�� A����������������
������(����������������
�����)� H�<� +�.� +8�+� +8�2�

��

������4�������������������
�����(������������

����
�����)� +1�3� 1�H� .1�+� +8�H�

�� A�����������
������ ?�.� H�+� +5�<� 5�?�

�� of which: �� �� �� ��

�� ����������������� !..�.� !?�H� !5H�.� !+5�<�

�� ����������������� .5�2� +1�5� +8?�+� .H�3�

�� �� �� �� �� ��

Labor productivity growth (%)1 (yearly rate) �� �� �� ��

�� All firms 3�<� H�.� +?�?� 3�<�

��

���!����
������(����������������������

����
������)� ?�.� 2�H� +1�8� 2�H�

�� A����������������
������(����������������
�����)� +8�H� !+�H� 1�2� ?�.�

��

������4�������������������
�����(������������

����
�����)� +H�2� <�1� .8�?� <�1�

�� A�����������
������ 5�H� <�8� +?�3� ?�?�

�� �� �� �� �� ��

Prices growth (%) 2 �� �� �� ��

�� All firms ?�3� 3�?� +1�.� ?�<�

��

���!����
������(����������������������

����
������)� ?�1� 2�<� ++�.� ?�<�

�� A������������ 2�5� ?�?� ++�8� 3�.�

�� A�����������
������ +8�1� ?�H� +1�.� 5�1�

�����=�7������������������������������������������
���������
���������������
����������������������������������������

�
����������
����������+������. ���������
�����A��������������������������������������������������������������������������

����������
����� 



�

�

�

������+��������
����������������������������������
���
������������������������������ �����������������������
���
���������������
����� 38�+K� (��� 	������)� ��� <H�+K� (��� 
����� ����)�� #����� ���� � ����� ����� ����� ��� ����
������ ��
�� ����������� ��������
����
��������

�������� ���� ����������� ��� �
������ ������������ ������� ��������� � ��� �������� �
������ (����� ���� �'�������� ��� 
����� ����)� �����
����
�������'��������������������������������������������!����
�������#������������������ ����������������������������������������
��� ������� ��� ���������� � ��� ������� ���������� ����� �������� ����
������ ����� �� ������������ ��� ������ ����� ������ �� ���������4������
�������������������������#������� �������������������������������������������
�����������������������@���������������(.885)�������������
D������ ����������� ���������� ����������
������������������������������������������
���������������������������������������������
���������*�,�����E�(��+5)�

�>�� :
���6:���
��:7	"�7��0�����>#��������:6A"�C6:���

0���������*., ��"7����������
�����D���
�E�����������������������������������G�������������������������������������!���������
���������������������� ����������.�����1 � ��������
�����#�76:������������ ��� �������������������������������������������������38�
����������������������� �������������������������������������������������������������� �������������D������������
����������E�
����������������
����� ��������������������������������������

���������������������.�����������1������������������������������������������������������������������� ��������������������������
������������������
������������������������������.���������������������������������������������������������������������������������
�������������������������������������������
���� �����������������������������������������������������������������!���!��������������
������������ �#�� ��������� ���� ���������� ����
����� (�����������������������������������������
����)� ���������
�����������������
�������������������'��������������������
�����������B��� ��������������������������������������� ���������������������������������
���� ���� ���������� ������ ��� ����
������ � ��� �����
�� ����� ��� ����� ��� ���� ������ �������� ����
������ ��� ������
���� ����������� �����
��������������������������������� ������������������
������������������������������������������������
���� ������
���������
�������
������
������������������������
�����������������������������

�#$":�1�
�#�>:��:9�:77��������@:�:00:
���0�����>#��������:6A"�C6:���L	#����C�

 �� �� �� �� ��

Dependent variable: l (Employment growth�yearly)�OLS Estimation with robust errors �� �� �� ��

Sector: Small Manufacturing Argentina Chile Costa Rica Uruguay 

Regression 11OLS: naïve 

21OLS: 

naïve 

11OLS: 

naïve 

21OLS: 

naïve 

11OLS: 

naïve 

21OLS: 

naïve 

11OLS: 

naïve 

21OLS: 

naïve 

�AA�(�����������������������
����)� 1�<+8MM� �� .�<++MM� �� .�1+2� �� 1�23?MMM� ��

(��)� (+�13<)� �� (+�..<)� �� (1�58H)� �� (+�+13)� ��

A�����������
����� �� 1�?1<M� �� .�?<+MM� �� 8�2?1� �� 2�8.5MMM�

(��)� �� (+�38.)� �� (+�13H)� �� (1�8?<)� �� (+�.H3)�

A�����������
����� �� 2�<1<M� �� !8�3+� �� .�351� �� 1�1<5M�

(��)� �� (.�+5?)� �� (.�++H)� �� (2�1<H)� �� (+�5?+)�

������������������(g"Π) � 8�+52MMM� 8�+51MMM� 8�131MMM� 8�132MMM� 8�+8H� 8�+85� 8�1H3MMM� 8�1H?MMM�

(��)� (8�83.)� (8�83.)� (8�81+)� (8�81+)� (8�8?H)� (8�8H8)� !8�82+� !8�82+�

.!����������������������� C��� C��� C��� C��� C��� C��� C��� C���

(��)� �� �� �� �� �� �� �� ��


�������� !1�?H.MMM� !1�?5<MMM� !8�<.H� !8�3<� 8�2.5� +�528� !2�H5.MMM�

!

2�H28MMM�

(��)� (+�88<)� (+�885)� (8�H1H)� (8�H2<)� (1�258)� (.�H5+)� (8�H13)� (8�H8?)�

7�������������� 8�+32� 8�+32� 8�.21� 8�.2.� +.�5.2� +.�<8?� .8�H?<� .8�H?<�

���������������� 2+H� 2+H� 5H+� 5H+� ++<� ++<� +2+?� +2+?�

�����=��������������������������������������������

7�����������=�MMM�+K �MM�3K�����M+K��
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